
 

Dimensionalanalysis
3 Dozen eggs equals how manyeggs

Equality 1 dozenitems 12 items1
Roadmap

DesiredGiven
equality

eggsDozen 2

3 36 eg

Conversionfactor expressed as a ratio of

2 units 1dozen I2eggs_of
12eggs 1dozen

E_expressed as a mathematical
equality 1 dozen 12eggs



Desired Given

How many second are there in 3 7 hours

Equalities
1mm 60seconds

t.hour 60m.rs

ZoadMap

Given
how60mm mm Gosee Desired

hours mm seconds

37hofrsx x fn s 13,320Seconds

3.7 x 60 60 13,320 seconds
I I

sigfrgszs.ie def def zsF
60 m.my ondS 13,320Seconds3.7 hours x I mm fr

5 T
5 d

13,000Seconds

1.3 704seconds



Stepsforproblemsolving

parse the problem
identify Given

Desired
equalities

Develope a road map

Given Desired
some equalities must be memorized

SI system
kilo 1 Km 1000M
Centi I m 100cm
Milli l m 1000mm
micro 1 106 m Item

1,000,000µm I m

3k mY kes

Eng SI

Volume 1gal 3.785L 4SF

writeoottemondimensindanalysis
formals Given x x x Desired

AnalyseSig figs
Round Box in answer



GivenDesired
How many seconds are in ST 7 years

RoadMap_

years days hours min Seconds

Equalities
lyeor.ee Zmonths
1 year 365 days
l days 24 hours

l hour GO ruin

I mm 60 Sec

z def def def def
365 days 2 Fix 451.7yd dayµws

5
1,6304,411,200Secondsl x l x l x l

I 630000000 Second

1.63 X 109seconds



Given
The volume of blood plasma on adults is 3 l L

Equality
Itzadensity of plasma is 1.03g1cm Howmanyy
pounds of plasma are in the average adult
body
Equality
1.03g Icm's Density mass tovolumeConversionfactor

memorized
453.6g b

qq.im
lcmxlc.mx Icu land

1mL Icm's 1mL Icm's
l L 1000who
E 1 103 L 1mL

RoadMap_
3

L uh cm sg lbs
volumeM Vol mass mass in
SI units

measured measured EY
z.se def def 3SF SF

3.14 x x 1
x x lbs

3 I X 1000 x Tx l 03 x t

Lx Tx Tx 453.6

3 l X 1000 1.03 3 I 1000 1.03 X t
453.6453.6

3.1 1000 1.03 453.6 27.043924162257 lbs

7 0 lbs



Rounding
Round each of the following to 3 Sigfigs

start at 1stnon Zero value
move to right

5714,297 57.0 he

92 mm 104mm

2 3949,673 Sec 2,400,000Sec or 2.40 106see

G 00061,0429 on 0.000670 in or 6.70 10
4m

Rules for x Rulesfort
Round to smallest Rounding is done bynumber of SF in place valve
problem
Rounding answer to Rounding answer to watch

watch the piece of the piece of data withthe bigest uncertaintydata with largestuncertainty gratesuncertaintysmallest II of Sigfigs byplace value



def Zsf
4 1mm 3 7km
6.732g x x 2sF

60 S 1 min

3 62M 3 I 0.01

102 Our 4 I o

155.946 m

v

T 4 SF155.9M


